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. What is the main purpose of the reading?

Explaining the connection between fun and happiness
Integrating ancient and modern views on happiness
Overviewing contemporary research on happiness

Rejecting Aristotle’s and Epicurus’s views on happiness

The expression “the pendulum has swung too far” in paragraph 3 refers to which of

the following situations?

People overemphasize the importance of leading virtuous lives and forget to strive for
success.

Psychologists focus too much on helping people flourish but neglect spiritual happiness.
There is an overemphasis placed on achieving goals, which causes too much stress.

Too much focus has been placed on having fun and ignoring social interaction.

Why does the author mention the suicide rates in the US?

Aristotelian and Epicurean philosophies are partly responsible for the rise in suicide
rates.
Societal pressure to achieve happiness through success may connect to rising suicide
rates.
The modern positive psychology movement offers a solution for decreasing suicide
rates.

Young Americans do not enjoy their lives, resulting in an increase in suicide rates.

Which of the following would be an example of Epicureanism?

Accumulating great wealth and fame after years of hard work
Becoming a social influencer on YouTube and having many subscribers
Enjoying a beautiful sunset and a good conversation with friends
Graduating from a high-ranking university and working for a top firm



Q 5. According to research conducted by the author, which kind of memories are among
the happiest in a person’s life?

(A) Carefree time spent with other people

(B) Enjoying time alone to rest and relax

(O) Indulging in delicious food and drink

(D) Moments of great success and achievement
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Q 1. Why was plain Japanese originally proposed?

(A) To assist communication in emergencies
(B) To avoid using English with international tourists
(©) To make Japanese language learning easier

(D) To replace the use of English in communication

Q 2. According to the reading, for which of the following reasons did the city of Yanagawa
introduce “plain Japanese” badges in 2016?

(A) To aid local foreign residents in emergency situations

(B) To connect tourists wanting to speak Japanese with locals

(O To help local Japanese people overcome their fear of speaking English
(D) To increase tourism from English-speaking countries

Q 3. Which of the following words is closest in meaning to the phrase “beefing up”’ as
used in the following statement in paragraph 6?
“While the government is beefing up Japanese language education, shouldnt we, the
hosting side, be doing something too?”

(A)  debating
(B) fattening
(C)  softening

(D) strengthening



Q 4. According to the reading, which of the following statements is not true?

A
(B)
(®)
(D)

Q5.

A

(B

(®)

(D)

A local government has used plain Japanese in communications with its residents.
Less than half of non-Japanese residents in Japan understand English.

Most of those who visit Japan come from Hong Kong, South Korea, and Taiwan.
Plain Japanese is useful for people who have returned from living abroad.

According to the article, what was learned about communication from the 1995 Great
Hanshin Earthquake?

2.12 out of 100 persons were injured in the earthquake, indicating that many foreigners
were hurt because they could not understand Japanese.

Language barriers and the lack of access to social media were the main causes of loss
of Iife during the 1995 Great Hanshin Earthquake.

Only 0.89 out of 100 Japanese residents did not understand evacuation information,
showing that most Japanese could read the instructions.

The injury rate per 100 foreigners was greater than that of Japanese people, implying

that not understanding evacuation information put foreigners at greater risk.
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Do you think the answer to “What makes you happy?” is different for people in your

generation versus those from older generations? Why or why not?
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